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The tobacco crop in Canada according to the census of 1901 and 1891 is 
as follows: — 
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TOBACCO CROP IN ONTARIO, AS GIVEN IN PROVINCIAL RETURNS. 

ESSEX. KENT. OTHER CorNTiES. TOTAL. 

Acres. Lbs. Acres. Lbs. Aores. Lbs. Acres. Lbs. 

1898 5,086 7,095,970 2,140 3,013,120 645 451,500 7,871 10,560,590 

1899 1,411 1,636,760 338 415,402 457 189,400 2,206 2,241,n62 

1900 1,620 2,065,560 449 583,700 408 205,640 2,477 2,854,900 

1901 1,968 2,290,752 584 564,728 383 258,100 2,935 3,113,580 

1902 * * 2,961 3,070,717 * * 2,961 3,070,717 

Over 90 cent of the crop was produced in the counties of Essex and Kent. 

The number of apple trees of bearing age in Ontario in 1903 was 
7,095,554. The yield is placed at 43,659,413 bushels, or 6 • 15 bushels per 
tree of bearing age. 

Ths area in vineyard in Ontario in 1903 was 15,269 acres, as compared 
with 14,028 acres in 1902. 


